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1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00[0.00 ~ 652 82.18] #h L5 |]0.00 ~ 652| 1.69 9.05 ZThLLSE 1.00| 500 ~ 7.83 82.18] Zhuls | 500 ~ 7.83| 1.69 9.05
9 100kN/mM#%#BZ % 1.00/ 000 ~ 048 107.09|3mZi#BZB| - ~ = - -| 100kN/MZE#B 2% 1.00[ 1053 ~ 11.86 107.09|3m%#B% % al ~ = - -
Zh st 1.00[048 ~ 826 100.00] #h st | 000 ~ 8.26| 2.18 11.68 Zh LS 1.00|] 500 ~ 10.53 100.00| Zh it | 500 ~ 11.86] 2.18 11.68
3 100kN/mM##8Z % 1.00/ 000 ~ 044 106.52|3mZ#BZDH| - ~ = = -| 100kN/iZi#8 % % 1.00| 11.37 ~ 1290 106.52|3m%#BZ % = ~ = = =
Zh st 1.00{044 ~ 823 100.00| #HList | 000 ~ 823] 201 10.76 Zh LS 1.00|] 500 ~ 11.37 100.00| Zhlist | 500 ~ 12.90] 2.01 10.76
4 100kN/mM#%# 8% % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
Zh st 1.00] 000 ~ 6.31 79.36| £ list | 000 ~ 6.31] 1.59 8.50 Zh LS 1.00] 500 ~ 799 79.36] #nLis | 500 ~ 7.99| 159 8.50
5 100kN/mM#%# 8% % 1.00/ 000 ~ 084 112.60|3mZ#BZD| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.58 ~ 13.02 112.60|3m%i#BZ% = ~ = = =
Zh st 1.00{084 ~ 863 100.00] Zh st | 000 ~ 8.63| 2.24 11.97 Zh LS 1.00|] 500 ~ 10.58 100.00| Zh it | 500 ~ 13.02] 224 11.97
6 100kN/mM#%#BZ % -l -~ = -|3mZzBz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{000 ~ 7.18 91.25] Zhuis 000 ~ 7.18] 1.63 8.71 Zh LS 1.00|] 500 ~ 9.65 91.25| Zhuls | 500 ~ 9.65| 1.63 8.71
7 100kN/mM#%# 8% % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
Lot 1.00{ 0.00 ~ 7.01 88.95| Zn L4t | 000 ~ 7.01| 1.63 8.73 Zh st 1.00f 500 ~ 9.21 88.95| #n Ly | 500 ~ 9.21| 1.63 8.73
8 100kN/mM%#EZ % = -~ = -|3m%EEZS -~ = = -| 100kN/MZE#BZ % = -~ = -|3m%EiEZ S = ~ = = =
ZnLst 1.00] 0.00 ~ 6.64 83.81| ZnList | 000 ~ 6.64| 1.59 8.50 Zhn st 1.00f 500 ~ 8.74 83.81| #nLis | 500 ~ 8.74 159 8.50
9 100kN/mM%#EZ % 1.00{0.00 ~ 0.79 111.79|3m%EHB % % -~ = = -| 100kN/ %8z % 1.00| 10.54 ~ 12.88 111.79|3m%E#B 2 % = ~ = = =
Zrn Lot 1.00{0.79 ~ 857 100.00] Zh L5t | 0.00 ~ 8.57| 2.16 11.57 st 1.00f 500 ~ 10.54 100.00f Z1list | 500 ~ 1288 2.16 11.57
100kN/mM%#EZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#EZ % ~ ImEEZD ~
Zhn st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~
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